	Experiment
	Atrazine
	Simazine

	Buffer extraction calibration
	y = 16.6x - 133
	y = 8.0 x + 70.9

	
	r2 = 0.9960
	r2 = 0.9940

	Stirred tomato puree extraction
	y = 5.6x + 1.0
	y = 1.9 x + 33.4

	
	r2 = 0.9996
	r2 = 0.9237

	Static tomato puree extraction
	y = 4.0 x + 8.2
	y = 2.1 x + 40.0

	
	r2 = 0.9972
	r2 = 1

	Standard addition regression
	y = 6.9 x + 258
	y = 2.3 x + 68.9

	
	r2 = 0.9571
	r2 = 0.9929

	External calibration
	y = 6.9 x - 0.2
	y = 2.3 x - 0.1

	
	r2 = 0.9571
	r2 = 0.9929


